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1. The degree of the polynomial (2,+4) is
(i) 4 (i) O (iii) 1 (iv) (-1) (v) 2

2. The degree of the polynomial(252+7a+3) is

(i) 2 (ii) 5 (i) (-1) (iv) 1 (v) 3
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3. The degree of the polynomial(5m4+4m +4m)is

() 4 (i) 3 (i) 5 (iv) 2 (v) 6
4. The degree of the polynomial (47> —8h%+4h3 —4h2-8)is
(i) 5 (i) 7 Gii) 4 (iv) 2 (v) 6

5. The constant term in polynomial(—=7k+6) is

(i) 5 (i) 6 (ii) 7 (iv) 3 (v) 8

6. The constant term in polynomiaI(Be2 +4e-7)is

(i) -6 (i) -5 (iii)) -7 (iv) -8 (v) -10

7. The coefficient of term /3 in polynomial(6/3 —4/2 +8/—=7)is

(i) 7 (ii) 8 (iii) 3 (iv) 6 (v) 5
8. The coefficient of term A in polynomial (61‘4—8f3 +47 —7f=9)is
(iy -11 (i) -9 (ii) -6 (iv) -8 (v) -7
9. Which of the following algebraic expressions is a monomial?
(i) (—2a+9) (i) 3a (i) (5a*+9a3+6a%—-4a+9) (iv) (—7a%*+8a>—a’-5a-7) (v) (-2a*-9a+4)
10. Which of the following algebraic expressions is a binomial?
(i) (-724=722+4) (i) (-42%-9) (i) (-22*+922-22+72-5) (iv) (72*+823-522-52+3)
(v) (-32%)
11. Which of the following algebraic expressions is a trinomial?

(i) (=8x*+2x3=7x) (ii) (=5x4—6x3-7x2+9x+7) (iii) (=8x*=x3—-9x2+3x+1) (iv) (2x°+7x)

(v) 9x

12. Which of the following algebraic expressions is a constant polynomial?

(i) (=n) (i) (6n*=3n2) (i) 5 (iv) (=7n*=4n3-2n%+5n+9) (v) (6n*+8n3-8)
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Which of the following algebraic expressions is a zero polynomial?

(i) (=6n%=9n=5) (i) (=7n3) (i) 0 (iv) (—=6n3—4) (v) (=2n*=5n3+7n2+5n+2)

Which of the following algebraic expressions is a constant polynomial?

(i) (5x3-9x2+3x-8) (i) 2x°—6x*—6x3—9x2+2x) (i) (8x=3) (iv) (=5x2+6x+9) (v) 2

Which of the following algebraic expressions is a linear polynomial?

(i) (=4) (i) (—mu+2) (i) (=302+2u—1) (iv) (=P +50*+8u3+7u=3) (V) (=503 —4u2+u+9)

Which of the following algebraic expressions is a quadratic polynomial?

(i) (=7) (i) (3r+2) (i) (=P —=8*=33+2r—4) (iv) (=2 +2P+4r+2) (v) (=22 -8r-2)

Which of the following algebraic expressions is a cubic polynomial?

(i) (—e=7) (i) (=3e2+2e-9) (i) (e2+9e*—8e3+2e2—-8e) (iv) (-8) (v) (—=8e3+3e2-9e+1)

The degree of polynomial(no—2n+30-1)is

(i) (-1) (i) 1 (i) 2 (iv) 4 (v) 3

The degree of ponnomiaI()(2y+5)(2 —6)(y2 —6x)is

(i) 3 (ii) 5 (iii) 2 (iv) 4 (v) 1

The degree of ponnomiaI(—7f2gh2 +5f2gh+3fg2h+gh—7h2) is

(i) 8 (ii) 6 (iii) 5 (iv) 2 (v) 4

The degree of ponnomiaI(—9f3g3h3+9f3g3+fzg3h3—6f2h2—4fg3h—7f—9gh2) is

(i) 8 (ii) 7 (iii) 11 (iv) 9 (v) 10

The coefficient of term ghin polynomial (=3 gh+29g—7h+1)is
(i) -3 (i) -2 (iii)) O (iv) -6 (v) -4

The coefficient of term cin ponnomiaI(—Sc2 d+7c? —7c+5d2) is

(i) -6 (i) -8 (iii) -10 (iv) -5 (v) -7
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The coefficient of term 0 in polynomial(—4n2p2 +8np—8n—202 —0)is

(i) -2 (i) -4 (iii)) 0 (iv) -3 (v) -1
The coefficient of term u3 w3 in ponnomiaI(—4u3 w3 +8u2 V2 -9 vin? =32 w+ % +6 V2 w— VW2) is
(i) -3 (i) -2 (iii)) -4 (iv) -5 (v) -6

Which of the following algebraic expressions is a monomial?

(i) (563m3=9K3m+3Kk2+m?) (i) (=6k—FP—=2m3) (i) (9K3P-93) (iv) 6kPm3

) (6K3Pm3-5k2Pm?—-9k2P m-2kim)



. Which of the following algebraic expressions is a binomial?
(i) (—6nop2—203+80) (ii) (—3n3op2+9n02p+0p3+7p) (iii) (9n3p3—2n03p3)

(iv) (—2n3op—2n3p3+np—60) (v) 7n203p2

. Which of the following algebraic expressions is a trinomial?

(i) (=£u%2-58u) (i) (=782 v+283 3 -9tv2-3u) (iil) (-68U2V2-6L2u2+661°)

(iv) (—813u2v2+5t3v2—5t2u3+7uv) (v) 4l'uv2

. Which of the following algebraic expressions is a constant polynomial?

(i) (=8b3c%2—c2+2cd) (i) (=7) (iii) 6b6%cd? (iv) (=9b3cd?+T7b%cd+5bc3—7c2d) (v) (2bd?—1)

. Which of the following algebraic expressions is a zero polynomial?

(i) 8fgh? (ii) (fg3—2fg) (iii) (—8FR+F3=3h) (iv) (2R g-TF+6Ffgh—8fh) (v) O

. Which of the following are true?

a) A linear polynomial in one variable has only one root
b) A polynomial of degree n has atmost n zeros

d) If (x + a) is a factor of f(x), then f(a) = 0
e) If (x - a) is a factor of f(x), then f(a) = 0
f) Zero of a polynomial and root of the polynomial are synonymous

)
)
c) Zero of a polynomial and zero polynomial are synonymous
)
)

g) Zero of a polynomial is the value of the variable for which the polynomial value is zero
(i) {d,b} (i) {a,b,ef.g} (i) {c,a} (iv) {cde} (v) {cfg}

. Which of the following are true?

a) A binomial has two and only two terms
b) Every polynomial is a binomial
c) A binomial may have degree 3

2. .
d) mr~is a monomial

e) Degree of zero polynomial is zero

(i) {b,a} (i) {b,a,c} (i) {e,c} (iv) {a,c,d} (v) {b,e,d}

. Which of the following are polynomials?

d) x2 +
) +X2
e) X2

(i) {c,e,b} (i) {a,b} (iii) {d,a,b} (iv) {b,e} (v) {c,e}



34. Which of the following are not polynomials?

(5x+10y)
(4x=T7y)
b) (5x+10y)

c) 121x2

1
d) x+
X

e) (20x2 +5xy—70)2)
(i) {b,a} (i) {ad} (ii) {c.d} (iv) {c.d.a} (v) {eb,a}

35. Which of the following are not polynomials?

a) 25x2

b) (10x-2y)

1
2
c) 25x“ +
) 25 x2
d) (12x+8y)
e) vVx

(i) {c,e} (i) {b,ec} (iii) {d,a,c} (iv) {a,c} (v) {be}

36. Which of the following are not polynomials?
a) (2x—8y)
b) (8)(2 —22xy—40y2 )

c (4x+5y)
(2x—8y)
d) vx

e)x2

(i) {a,c} (ii) {ea,c} (iii) {c,d} (iv) {b,d,c} (v) {b,d}



Assignment Key

1) (iii) 2) (i) 3) (i) 4) (i) 5) (ii) 6) (iii)
7) (iv) 8) (iv) 9) (ii) 10) (ii) 11) (i) 12) (iii)
13) (iii) 14) (v) 15) (ii) 16) (v) 17) (v) 18) (iii)
19) (i) 20) (iii) 21) (iv) 22) (i) 23) (v) 24) (i)
25) (iii) 26) (iv) 27) (iii) 28) (iii) 29) (ii) 30) (v)
31) (ii) 32) (iv) 33) (iv) 34) (ii) 35) (i) 36) (iii)
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